
 

  

Ws8 

F–3507   

B.Com. DEGREE EXAMINATION, APRIL 2020 

Fifth Semester 

Commerce 

CORPORATE ACCOUNTING 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. State the definition of share capital. 

 £[S ‰»uÚzvøÚ Áøμ¯øÓ ö\´P. 

2. What do you know about debentures? 

 Phß£zvμ[PÒ £ØÔ }Âº AÔÁx ¯õx? 

3. What do you know about acquisition of a business? 

 Â¯õ£μzvøÚ øP¯P¨£kzxuÀ £ØÔ }Âº AÔÁx ¯õx? 

4. What do you know about incorporation of a company? 

 {ÖÁÚ® CønzuÀ £ØÔ }Âº AÔÁx ¯õx? 

5. What is meant by final accounts? 

 CÖvU PnUSPÒ GßÓõÀ GßÚ?  
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6. What is meant by deficit balance sheet? 

 £ØÓõUSøÓ C¸¨¦ {ø»USÔ¨¦ GßÓõÀ GßÚ?  

7. What do you know about amalgamation of a company? 

 {ÖÁÚ JßÖ÷\ºzuÀ £ØÔ }Âº AÔÁx ¯õx? 

8. What is meant by absorption of a company? 

 {ÖÁÚ Dº¨¦ GßÓõÀ GßÚ?  

9. What is meant by goodwill? 

 |Øö£¯º GßÓõÀ GßÚ?  

10. What do you know about liquidation of companies? 

 {ÖÁÚ[PÒ Pø»¨¦ £ØÔ }Âº AÔÁx ¯õx? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Describe the procedure for issue of shares. 

   £[SPøÍ öÁÎ°kÁuØPõÚ ö\¯À•øÓPøÍ 

_¸UP©õP ÂÁ›. 

Or 

 (b) X Ltd forfeited 30 shares of Rs. 10 each fully called 
up, held by Ram for non-payment of allotment 
money of Rs. 3 per share and first call of Rs. 4 per 
share. He had paid the application money of Rs. 3 
per share. These shares were re-issued to Raja for  
Rs. 8 per share. Pass journal entries.  
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   •ÊÁx® AøÇUP¨£mh 30 £[SPÒ JßÖ ¹£õ´ 10 

Ãu® μõ® Gß£ÁºUS JxUP¨£mhvÀ AÁº  

¹.3 JxURmk¨£n•®, ¹.4 •uÀ AøÇ¨¦ £n•® 

ö\¾zuõuuõÀ X {Ö©® £[SPøÍ JÖ¨¤Ç¨¦ 

ö\´ux. AÁº £[S JßÖUS ¹. 3 Âsn¨£® ©mk® 

ö\¾zv°¸¢uõº. AÆÁõÖ JÖ¨¤Ç¨¦ ö\´¯¨£mh 

£[SPÒ £[S JßÖUS ¹. 8 Ãu® CμõáõÂØS ©Ö 

öÁÎ±k ö\´¯¨£mhx. SÔ¨÷£mk £vÄPøÍ u¸P. 

12. (a) Elucidate the method of ascertaining profit or loss 
prior to incorporation. 

   {ÖÁÚ® Cønzu¾US •ßÚº C»õ£® AÀ»x 

|èhzøu EÖv¨£kzx® •øÓø¯ öuÎÄ£kzuÄ®. 

Or 

 (b) A company which was incorporated on May 1, 2007 
acquired the business of a sole trader on January 1, 
2007. The account of the company were closed for 
the first time on September 30, 2007 disclosed a 
gross profit of Rs. 84,000 The establishment 
expenses were Rs. 21,330; Directors fees Ra. 1,500 
per month ; Preliminary expenses written off  
Rs. 2,250 Rent up to June Rs, 150 per month but 
thereafter it was increased to Rs. 375 per month; 
Included in the director's fees was salary to the 
manager at Rs. 750 per month ; who was appointed 
as a director at the time of incorporation of the 
company. Prepare a Statement showing profits prior 
to and post incorporation assuming that the net 
sales were Rs. 12,30,000 the monthly average of 
which for the first four months of 2007 was half that 
of the remaining period.   

   ÷© 1, 2007À öuõh[P¨£mh {Ö©® uÛ {ÖÁÚ® 

JßøÓ 1.1.2007À öPõÒ•uÀ ö\´ux. 

  30.9.2007À PnUS •uÀ•øÓ¯õP •iUP¨£mhx 

  ö©õzu »õ£® & ¹. 84,000 

  Aø©¨¦ ö\»Ä & ¹. 21,330 
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  C¯US|º Pmhn® & ¹. 1,500 ©õu® JßÖUS 

÷£õUöPÊu¨£mh öuõhUP ö\»ÄPÒ ¹. 2,250. 

  150 Ãu® áüß Áøμ°À ÁõhøP ö\¾zu¨£mh ¤ÓS 

¹. 375 GÚ E¯ºzu¨£mhÚ. C¯US|º \®£ÍzvÀ 

©õu® KßÖUS ¹. 750 ÷©»õÍ¸US ÁÇ[P¨£mh 

\®£Í® ÷\º¢xÒÍx. C¯US|º £vÂß ÷£õx £uÂ°À 

÷\º¢uõº. £vÄUS •ß ©ØÖ® ¤ß EÒÍ »õ£zøu 

PõsP. ÂØ£øÚ ¹. 12,30,000 2007&À •uÀ 4 ©õuzvÀ 

©õu \μõ\›, ¤ßÁ¸® ©õu[PÎÀ £õv¯õS® GÚU 

öPõÒP. 

13. (a) Briefly explain the guidelines for preparation of 
balance sheets. 

   C¸¨¦{ø» ÂÁμ[PøÍ u¯õ›¨£uØPõÚ 

ÁÈPõmkuÀPøÍ _¸UP©õP ÂÍUSP.  

Or 

 (b) X  Ltd,  had earned   Rs,12,00,000   profit on 
31.12.2007 which is appropriated as follows: 

  (i) Rs. 1,00,000 towards debenture redemption 
fund 

   (ii) 8% preference dividend (tax free), tax being 
20% on Rs. 13,20,000 

   (iii) 10% ordinary dividend, tax being 20% on 
40,00,000 

   (iv) Rs. 1,48,000 to general reserve 

   (v) Balance to be carried forward. Prepare profit  
and     Loss   Appropriation account. 

   31.12.2007 AßÖ X {Ö©® Dmi¯ ¹. 12,00,000 

ö£Ö©õÚ C»õ£zøu ¤ßÁ¸©õÖ £Qº¢ux 

   (i) PhÜmk £zvμzøu «m¦ {vUS ¹. 1,00,000 

JxUP ÷Ásk®. 
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   (ii) 8 % •ßÝ›ø© £[Põuõ¯® (Á› }[P»õP),  

¹. 13,20,000& 20% Á› 

   (iii) 10% \õuõμn £[Põuõ¯® (Á› }[P»õP)  

¹. 40,00,000 & 20% Á› 

   (iv) ö£õx Põ¨¤ØS ¹. 1,48,000 ©õØÓ ÷Ásk® 

   (v) «u•ÒÍ öuõøPø¯ Akzu BskUS ©õØÓ 

÷Ásk® 

    C»õ£ |mh £QºÄ PnUøP u¯õ›UP. 

14. (a) Elucidate the needs for reconstruction of companies. 
   {ÖÁÚ[PÎß ¦Úμø©¨¦UPõÚ ÷uøÁPøÍ 

öuÎÄ£kzxP 

Or 
 (b) The company     B takes over the business of A 

company. The value agreed for various assets is 
goodwill Rs. 22,000, land and Buildings Rs. 25,000 
Plant    Rs,  24,000  Stock      Rs.13,000,   Debtors 
Re. 8,000. B company does not take over cash but 
agree to assume the liability of creditors at  
Rs. 5,000. Calculate purchase consideration, 

   A  {Ö©zøu B {Ö©® øP¯P¨£kzv¯x. 

ö\õzxUPÎß HØP¨£mh ©v¨¦ |Øö£¯º &   
¹. 22,000, Pmih® ©ØÖ® {»® & ¹. 25,000 öPõvP»ß 

& ¹. 24,000: \μUS C¸¨¦& ¹. 13,000 PhÚõÎPÒ& ¹. 

8,000: B  {Ö©® öμõUPzøu GkzxU öPõÒÍÂÀø». 

BÚõÀ PhÜ¢÷uõøμ ¹. 5,000ØS GkzxU öPõshx. 

öPõÒ•uÀ ©Ö£¯øÚU Psk¤iUP. 

15. (a) Mention the procedure for valuation of shares of 
companies. 

   {ÖÁÚ[PÎß £[SPøÍ ©v¨¤kÁuØPõÚ |øh•øÓ 

£ØÔ SÔ¨¤kP. 

Or 
 (b) Calculate the amount of goodwill on the basis of 2 

years purchase of the last five years average profits. 
The profits for the last five years are: 4,100; 5,250; 
2,550; 3,850; 6,000. 

   Ph¢u 5 BskPÎß \μõ\› C»õ£zvÀ 2 Bsk 

öPõÒ•uÀ GßÓ Ai¨£øh°À |Øö£¯›ß ©v¨ø£U 
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PnUQkP. Ph¢u 5 BskPÎß C»õ£ Á¸©õÖ: ¹. 

4,100, ¹. 5,250, ¹. 2,550, ¹. 3,850, ¹. 6,000. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. A company had Rs. 4,00,000, 5% Debentures on 1st 
January, 2006 (redeemable on 31st  December 2006). On 
that  date   the  sinking  fund     stood at Rs.  3,74,500 
represented by Rs. 50000 own debentures purchased at 
an average price of Rs. 99 and Rs. 3,30,000. 3% stock. The    
annual     installment      was   Rs.   14,200.  On  
31st  December, 2006 investments were realized at Rs. 98 
and   the   debentures  were      redeemed. Write up the 
accounts for 2006.  

  1.1.2006À J¸ {Ö©® 5%  Ámi öPõsh ¹. 4,00,000 Phß 

£zvμzøuøÁzxÒÍx (v¸¨¤ AÎUP ÷Ási¯ ÷uv 

31.12.2006) A÷u ÷uv°À v¸¨¤ ö\¾zu E¸ÁõUP¨£mh 

{v 3,74,500US C¸¢ux. AvÀ  

¹. 50,000 ö\õ¢u Phß £zvμ® Auß ©v¨¦ ¹. 99 ©ØÖ® ¹. 

3,30,000UPõÚ 3% \μUS. Á¸h uÁøn ¹. 14,200 i\®£º 31, 

2006À •u½kPÒ ¹. 98 Ãu® ÂØP¨£mk Phß 

v¸¨£¨£mhÚ. 2006ØPõÚ PnUøP GÊxP.  

17. X Ltd was incorporated on 01.08.2007. It took over the         

business of ‘Y’ with effect from 01.04.2007. From the          

following particulars relating to the year ending          

31.03.2008, find out profits prior to and after          

incorporation. Sales for the year were Rs. 30 lakhs and 

pre incorporation sales were Rs. 12.5 lakhs. Gross profit 

for the year was Rs. 9 lakhs. The expenses debited to 

Profit and Loss account were: 

Particulars Rs. Particulars Rs. 

Rent 45,000 General expenses 24,000 
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Salaries 75,000 Advertisement 90,000 

Directors fees 19,000 Printing and 
Stationery 

 
18,000 

Interest on 
debentures 

 
30,000 

Commission on 
Sales 

 
30,000 

Audit fees 7,500 Bad debts (Rs. 5000) 
relate to debts 

 
7,500 

Discount on sales 18,000 Interest to vendor 
on purchase 
consideration upto 
01.10.2007 

 

 
15,000 

Depreciation 1,20,000   

  X ¼m £vÄ ö\´¯¨£mhx 1.8.2007. 1.4.2007 •uÀ X ¼m Y 

Â¯õ£õμzøu GkzxUöPõshx. 31.3.2008&® Bsk •i¯ 

EÒÍ Â£μ[PÎß Ai¨£øh°À £vÂØS •ß¦ÒÍ »õ£® 

©ØÖ® £vÂØS ¤ß¦ EÒÍ »õ£zvøÚU PnUQkP. 

Kμõsiß ÂØ£øÚ ¹. 30 »m\® BS®. ©ØÖ® AvÀ 

£vÂØS •ß¦ EÒÍ ÂØ£øÚ ¹. 12.5 »m\® BS® 

Kμõsiß ö©õzu »õ£® ¹. 9 »m\® BS®. »õ£ |mh 

PnUQÀ £ØöÓÊv¯ ö\»ÄPÍõÚøÁ : 

 ¹.  ¹. 

ÁõhøP 45,000 ö£õxa ö\»ÄPÒ 24,000 

\®£Í® 75,000 ÂÍ®£μ® 90,000 

C¯USÚºPÒ  

Pmhn® 

 
19,000 

Aa_ ©ØÖ® 

GÊxö£õ¸ÒPÒ 

 
18,000 

Phß £zvμ 

Ámi 

 
30,000 

ÂØ£øÚ «uõÚ 

PÈÄ 

 
30,000 
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uoUøP 

Pmhn® 

 
7,500 

ÁõμõUPhß 

(TmkÖÁõUPzvØS 

•ß ÁõμõUPhß 

C¸¨¦ ¹.5,000 

 
 
 

7,500 

ÂØ£øÚ 

«uõÚ uÒÐ£i 

 
18,000 

öPõÒ•uÀ ©Ö£¯ß 

«uõÚ ÂØÓÁ¸US›¯ 

Ámi (1.10.2007 Áøμ) 

 

15,000 

÷u´©õÚ® 1,20,000   

18. Discuss about the form and contents of profit and loss 

accounts and balance sheet of a company. 

J¸ {ÖÁÚzvß »õ£ |mh PnUSPÒ ©ØÖ® C¸¨¦{ø»¨ 

£iÁ® BQ¯ÁØÔß EÒÍhUP[PøÍ¨ £ØÔ ÂÁõv. 

19. Following was the balance sheet of X Ltd. as on 
31.03.2006: 
Liabilities Rs. Assets Rs. 

Equity capital:  Goodwill 50,000 

4000 shares of  
Rs. 100 each 

 

4,00,000 

Land and buildings 1,40,000 

7% preference  
share of Rs. 100  
each 

 
 

2,00,000 

Plant and 

Machinery 

 
1,50,000 

6% debentures 2,00,000 Patent rights 40,000 

Sundry creditors 2,00,000 Stock 1,60,000 

  Debtors 2,15,000 

  Cash in hand 5,000 

  Preliminary 
expenses 

 
25,000 

  Discount of 
debentures 

 
15,000 
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  Profit and loss 
account 

 
2,00,000 

 10,00,000  10,00,000 

  The following scheme of reconstruction was duly 
accepted. 

 (a) Equity shares to be reduced to equal number of fully 

paid shares of Rs. 50 each. 

 (b) 7% preference shares are to be reduced by 30% and 

the rate of dividend increased to 9% 

 (c) The value of land and buildings is to be increased by 

10% 

 (d) The debentures are to be reduced by 20% 

 (e) All nominal and fictitious assets are to be 

eliminated and balance used to write off patents 

 (f) Further equity shares are to be issued for  

Rs. 50,000 for cash 

  Assuming that the scheme is fully carried out, pass 

journal entries and prepare the balance sheet. 

GUì {Ö©zvß 31.03.2006 ÷uv°ß C¸¨¦ {ø»USÔ¨¦ 

¤ßÁ¸©õÖ: 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

÷|ºø©¨  

£[S •uÀ: 
 |Øö£¯º 50,000 

4000 £[SPÒ  

¹. 100 

 

4,00,000 

{»®, Pmih® 1,40,000 

7% •ßÝ›ø© 

£[SPÒ JßÖ 

¹. 100 Ãu® 

 
 

2,00,000 

ö£õÔ,  

C¯¢vμ® 

 
1,50,000 
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6% Phß £zvμ[PÒ  
2,00,000 

¦øÚö£õ¸Ò 

E›ø© 

 
40,000 

£Ø£»  

PhÜ¢÷uõºPÒ 

 
2,00,000 

\μUQ¸¨¦ 1,60,000 

  PhÚõÎPÒ 2,15,000 

  øP°¸¨¦ 

öμõUP® 

 
5,000 

  öuõhUPa 

ö\»ÄPÒ 

 
25,000 

  Phß £zvμ 

Ámh® 

 
15,000 

  C»õ£ |mh P/S  
2,00,000 

 10,00,000  10,00,000 

RÌUPsh ©Ö Aø©¨¦z vmh® E›¯ •øÓ°À HØÖU 

öPõÒÍ¨£mhx. 

(A) ÷|ºø©¨ £[SPÒ A÷u GsoUøP²ÒÍ •ÊÁx® 

ö\¾zu¨£mh KßÖ ¹. 50 £[SPÍõP SøÓUP¨£h 

÷Ásk®, 

(B) 7% •ßÝ›ø© £[SPÒ 30% SøÓUP¨£mk, 

£[Põuõ¯® 9%  BP E¯ºzu¨£h ÷Ásk®. 

(C) {»®, Pmih® ©v¨¦ 10%  E¯ºzu¨£h ÷Ásk®. 

(D) Phß£zvμ ©v¨¦ 20%  SøÓUP¨£h ÷Ásk®. 

(E) ö£¯μÍÄ, ¦»ÚõPõa ö\õzxUPÒ AøÚzx® 

}UP¨£mk, «vø¯ ¦øÚö£õ¸Ò E›ø©°À PÈUP 

÷Ásk®. 

(F) ÷©¾® ¹. 50,000US ÷|ºø©¨ £[SPÒ öμõUPzvØS 

ÁÇ[P¨£kuÀ ÷Ásk®. 
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 Czvmh® •Êø©¯õP A•À£kzu¨£mhöuÚU 

öPõsk, SÔ¨÷£mk¨ £vÄPÒ u¢x C¸¨¦ {ø»U 

SÔ¨ø£z u¯õ›UPÄ®.   

20. Balance Sheet of X Ltd as on 31.12.98 is as follows: 
Liabilities Rs. Assets Rs. 

Share Capital:  L and B  25,000 

12,000 equity shares of  
Rs. 10 each 

1,20,000 Fixed assests 2,00,000 

8,000 preference shares 
of Rs. 10 each 

 
80,000 

Stock 5,25,000 

Bank Loan 4,00,000 Debtors 1,00,000 

8 % debentures 1,00,000 P and L 
Account 

 
58,000 

Interest due on 
debentures 

 
8,000 

  

Creditors 2,00,000   

 9,08,000  9,08,000 

 The company went into voluntary liquidation on that 
date. Prepare liquidators final statement of accounts 
after taking into account the following: 

 (a) Liquidation expenses and liquidators remuneration 
amounted to Rs. 3,000 and Rs. 10,000 respectively. 

 (b) Bank loan was secured by pledge of stock. 

 (c) Debenture and interest thereon are secured by a 
floating charge on all assets. 

 (d) Fixed assets were realised at book values and 
current assets at 80% of book values. 

 31.12.1998&À GUì {Ö©zvß C¸¨¦ {ø»USÔ¨¦ R÷Ç 

öPõkUP¨£mkÒÍx. 

 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 
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£[S•uÀ:  {»•® 

Pmih•® 

 
25,000 

12,000 \õuõμn 

£[SPÒ ¹. 10 Ãu® 

 
1,20,000 

{ø»a 

ö\õzxUPÒ

 
2,00,000 

8,000 •ßÝ›ø© 

£[SPÒ ¹. 10 Ãu® 

 

 
80,000 

\μUQ¸¨¦ 5,25,000 

Á[Q Phß 4,00,000 PhÚõÎPÒ 1,00,000 

8 % Phß £zvμ[PÒ 1,00,000 C»õ£ |mh

P/S 

 
58,000 

Phß £zvμ[PÒ 

«uõÚ Áμõu Ámi 

 
8,000 

  

PhÜ¢÷uõº 2,00,000   

 9,08,000  9,08,000 

 A¢u ÷uv°À {Ö©©õÚx uõÚõP Pø»UP¨£mhx. 

Pø»¨£õÍ›ß CÖv PnUøP RÌUPsh uPÁÀPøÍ 

PnUQÀ GkzxU öPõsk u¯õ›UPÄ®. 

 (A) Pø»¨¤ØPõÚ ö\»Ä ©ØÖ® Pø»¨£õÍ¸UPõÚ 

Fv¯® •øÓ÷¯ ¹. 3,000 ©ØÖ® ¹. 10,000. 

 (B) \μUQøÚ Ah©õÚ® øÁzx Á[Q Phß ö£Ó¨£kQÓx. 

 (C) Phß £zvμ® ©ØÖ® Auß «uõÚ Ámi GÀ»õ 

ö\õzxUPøÍ²® ªuUS® Ah©õÚ©õP öPõskÒÍx. 

 (D) {ø» ö\õzxPÒ AuÝøh¯ ¦zuP ©v¨¤À 

ÂØP¨£mhÚ. |h¨¦ ö\õzxPÒ Auß ¦zuP 

©v¨¤¼¸¢x 80%  BP PnUQh¨£kQÓx.  

———————— 
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